
Time: 35 Minutes Paper Math 7 (T-1) Total Marks: 25

2nd Month, 2nd Week, 6th Day Revision Test (2nd Week)

Q.1. Choose the correct options.   (1 x 10 = 10)  
(i) Identify the proportion: 
(a) 7:2 :: 35:10 (b) 2:6 :: 5:20 (c) 16:12 :: 4:3 (d) All of these 

(ii) What is the value of x in the proportion? Z:9 :: 15:34

Z:9 :: 15:34  x 
(a)  7 

27
(b)  27 

7
(c)  4 

29
(d)  29 

4

(iii) Which of the following is the proportion? 
(a) 4:8 :: 10:2 (b) 15:50 :: 9:30 (c) 10:8 :: 70:56 (d) None of these


(iv) Value of x in the proportion: 12:x :: 3:6  x12:x :: 3:6 
(a) 16 (b) 18 (c) 20 (d) 24

(v) If cost price is Rs. 450 and selling price is Rs. 560, then what is the profit?

 560  450 
(a) Rs. 90 (b) Rs. 100 (c) Rs. 110 (d) Rs. 130

(vi) If cost price is Rs. 1230 and selling price is 1180 then what is the loss?

 1180  1230 
(a) Rs. 50 (b) Rs. 60 (c) Rs. 70 (d) Rs. 80

(vii) If marked price is Rs. 4550 and selling price is Rs. 3950 then discount

will be:

 3950  4550 
(a) Rs. 450 (b) Rs. 500 (c) Rs. 550 (d) Rs. 600

(viii)  If 7kg potatoes cost 140 rupees, how much we pay for 10kg potatoes?

 12  140  7 
(a) Rs. 180 (b) Rs. 220 (c) Rs. 240 (d) Rs. 260

(ix)  Salman bought a  sofa set for Rs. 25000 and sold it for Rs. 20000. What

is his loss percentage?

 20000  25000 
(a) 5% (b) 10% (c) 15% (d) 20%

(x)  The price of motorcycle is Rs. 110000. What will be GST on it at the rate

         of 17%?  GST  17  110000 
(a) Rs. 15700 (b) Rs. 18000 (c) Rs. 18700 (d) Rs. 19500

Q.2. Answer the following questions: (4x2=8)  
(i)   If 2 men take 10 days to cut a tree, how many days will take 4 men to do 

the same job?  4  10  2 
(ii). Zawar has annual income of Rs. 1,000,000. Find the amount of income 

        tax.  1,000,000 
(iii). Sammar bought an old motorbike for Rs. 35000 and spent Rs. 15000 on

its repairing. After few months he sold his bike for Rs. 60000. Find his

profit percentage.     

 15000  35000 
 60000 

(iv). Eman purchases a heater for Rs. 4600 and sells it for Rs. 4500. She buys

an oven for Rs. 14500 and sells it for Rs. 14000. On which item does

Eman bear less loss?     

 14500  4500  4600 
 14000

Q.3. For 10 horses, 12kg 400g of food is required daily. In the same

proportion, how much will be needed for 16 horses?     (1x4=4)

 16  400  12 
Q.4. Ammar wants to buy an air conditioner of price 200,000. If the rate of

GST is 17%, then find how much money Ammar has to pay?     (1x3=3)

 17  200,000 

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